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Topic:- General Knowledge and Logical Knowledge

1) Who is popularly referred to as ‘The Lion of Punjab’? / "-‘a?'-Q-tiTrI'ITSP & ¥7 U B aABg %’?
1. Bal Gangadhar Tilak / STeT TeR foreten
2. Jayaprakash Narayan / STHUDRTRT TRTIU]

3. Jawaharlal Nehru / STdTg<clTcd 3165
4. Lala Lajpat Rai / <Tell <lSTUd XTI

Correct Answer :-

 Lala Lajpat Rai / &Il &lSTUd TA

2) Who is the Union Minister for External Affairs? / ﬁ%ﬂ qHdl & H’q - FikaC| %'?
1. Smriti Irani / F{ﬁf g_{l:ﬁ

2. Sushma Swaraj / g¥HT TR

3. Radha Mohan Singh / TYT IﬁE:f g

4. Harsimrat Kaur Badal / GRI9d ®R d1gd

Correct Answer :-

« Sushma Swaraj / JYHT TRl

3) Six officers have offices in a row. B has F and D as neighbors; E has A and C as neighbors; A does not have his
office next to either F or D; C does not have his office next to D. Who among the officers have offices next to F? / U

U § o8 PRl F TPI S I BF FIR D USRI T EP A MR CUSRI T APTATMPAAT FHFIRTE DS
T 8; C &1 A D & Ui 181 g1 fopa siftreprival @1 oiffthd r & T 82

1.C,D
2.A,B
3.D,E

4.B,C

Correct Answer :-



4) How many seats did the debutant Aam Aadmi Party secure in the 2017 state elections in Punjab? / 2017 R TICR:

gC faumra T gaat § o e urdf A fra-it i ura ot
1.24
2.23
3.20

4. 19

Correct Answer :-
e 20

5) How many numbers greater than 50,000 can be formed with digits 4, 0, 6, 5, and 1? / 3P 4,0,6,5 Gﬁ?’ 1% 91y
50,000 ¥ 3rf¥re fpa-it T=mnae &1 At frar s awar g2

1. 48
2.24
3.36

4. 60

Correct Answer :-

. 48

6) Which state is home to the largest cave temple, ‘Kailash Temple’ of India? / HIRd T LER gST BT TR Farr

A g e a1 82
1. Punjab / GSTTd
2. Uttar Pradesh / 31X EréET

3. Andhra Pradesh / 3¢ FI%QT

4, Maharashtra / jzlg'l?'l'g

Correct Answer :-

 Mabharashtra / HERTY

7) Which Indian State has been declared as the first ‘Digital State’ of India? / HIRd F T ue=r &1 uyw fSfoea
WIRT & U A i far mar g2

1. Goa /ThdT
2. Karnataka / HO_FIW
3. Kerala /

4. Maharashtra / HERTY



Correct Answer :-

« Kerala / B

8) Which of the districts of Malwa region is known for slate pencil factories? / HICIAT &3 & SiF-31 forem Wie tfRre

FREM! & forg ufdrs 82
1. Jhabhua / ST

2. Indore / 3@?

3. Mandsaur / HGGR

4. Barwani / XAt

Correct Answer :-

e Mandsaur / q—d—FﬁT

9) The planet nearest to the sun is / oI BT Iaq T'I\_Il?aﬁ e %:
1. Uranus / EB_"IQ
2. None of the above / m e ﬁ’sﬁ :lg:f

3. Mercury / §Y Ug

4. Pluto / lfj\_cpf

Correct Answer :-

e Mercury / §Y g

10) The Ashok Chakra on the Indian National Flag has / YR ?Tgh ﬂ% & =M Tsp H fHat ?ﬂﬁl‘q‘f% ?
1. 12 spokes/ 12 diferat

2. 18 spokes / 18 <iferat

3. 24 spokes / 24 diferat

4. 30 spokes / 30 fiferat

Correct Answer :-

e 24 spokes /24 <fiferat

11) The Ashok Chakra in the Indian National Flag is in which colour? / HRA TI'@TI ?@; T 3P TP fog I

PIEATE 2

1. India Green / YR &1
2. Dark Brown / TTexT HXI
3. Navy Blue / &1 Atall



4, Black / hTdl

Correct Answer :-
» Navy Blue / 7TgXI Sy

12) If WATCH is coded XCWGM, then how is DELHI coded? / Tf¢ WATCH %I XCWGM & ®ifsd frar srar g, @t
DELHI 9 $4 ®ifgd frar e

1. FGNLN
2. EGOLN
3. EGPLN

4. FGOLN

Correct Answer :-
« EGOLN

13) Who has been awarded the Sangeet Natak Akademi Puraskar for the year 2016? / qi 2016 F fore wfta Ares

T PR s faam mar @2
1. Mallika Sarabhai / FfCTIohT GRTHTS
2. Satyabrata Rout / HIdd I3d

3. BirjuMaharaj / féRT{LII—E;RTGf

4. Leila Seth / AT 48

Correct Answer :-
 Satyabrata Rout / I dd 13d

14) If MATHS is coded LZSGR, then how is GEOGRAPHY coded? / Gf& MATHS &) LZSGR 9 B Sd fobar wIram 8, ot
GEOGRAPHY ®) &1 ®ifsd fobar S

1. FDNFQZQGX
2. FDPFQZOGX
3. FDNFSZOGX

4, FDNFQZOGX

Correct Answer :-

« FDNFQZOGX

15) If nib laf bal means elephants are mammals and laf nav nib means elephants are out, the code for which word
cannot be inferred with certainty? / Tl nib laf bal PT 3 f elephants are mammals 3R laf nav nib ®T aref elephants are out

2, 9 P A U & fore wis FAif¥aar & g &) avmar o gl



1. Elephants
2. Out

3. Mammals

4. None of the above / G’W?W##a’-}quﬁ?

Correct Answer :-

o Elephants

16) ‘Santosh trophy’ is associated with / Ty E'T'Qﬁ' s'a'ﬁmf‘ﬂa %:
1. Hockey / ﬁaﬁ

2. Football / edld

3. Weight-lifting / HRIKITer

4. Wrestling @Q?‘ﬂ

Correct Answer :-

« Football / eald

17) Who was named the Vice Presidential candidate of the National Democratic Alliance (NDA) in 2017? / 2017 |

AP SdiA® e (TTSIY) & IWIPUT & SRR & w0 H b 71fHa fosar mar
1. Venkaiah Naidu / 4T ATTg

2. Sushma Swaraj / JUHT XGRS

3. C VidyasagarRao / It fasmarR 9

4. Gopalkrishna Gandhi / W et

Correct Answer :-

« Venkaiah Naidu / 33T ATTg

18) In a certain code language, Love is blind means 347, Help blind men means 756, Love is sweet means 439. Which is
the word for sweet in that code language?/ Th @I PIS HTUT ﬁ, Love is blind &1 3% 34 7, Help blind men T 3[ f 75 6,
Love is sweet BT A 439 BT 81 TH BIS HIUT H sweer b ToIT 59 2o 1 3xaHTS fhur 11 82

1.3
2.7
3.9

4.4

Correct Answer :-

e 9



19) In a fair dice thrown, what is the probability of getting a multiple of 2? / froaes arm ﬁ'ﬁ'ﬁtﬂ', 2® oSt 3T Bt
T T 82

1
1, 3

B B

b |—=

| =

4.

Correct Answer :-

b=

20) The President of the Constituent Assembly was elected in / HfIUT TUT & A& BT I B4 GSIT UT?
1. July, 1950 / QTS 1950

2. December, 1946 / [GHSR 1946

3. December, 1948 / fG¥eR 1948

4. November, 1949 / &R 1949

Correct Answer :-

« December, 1946 / fdTaR 1946

21) does not share its border with Madhya Pradesh. / HY L'I%QT & 1Y 3= AT GIEL
TEf HRar el

1. Gujarat / [oIR_Td
2. Rajasthan / XTSI

3. Bihar / 48R
4, Maharashtra / jZIE'ITIE

Correct Answer :-

« Bihar/ f98R
22) , is the first member of the Jain community to be appointed to the National Commission for
Minorities. / AT & forg AP ST & S TG & UYH HG 3 |

1. Sunil Singhi / gATel F¥elt
2. Simran Jain / R S



3. Alpesh Shah / 37U 8
4. Thawarchand Gehlot / Zﬁﬁ?{ ﬁﬁf’h?f

Correct Answer :-

« Sunil Singhi / el et

23) The Vidhan Bhavan in Bhopal was designed by ./ HuTe FRY e Ha &1 Fuie
gRT far mar T

1. B 'V Doshi / & dF qret
2. Raj Rewal / NEECK]

3. Le Corbusier / & DRYRFR
4. Charles Correa/ I i

Correct Answer :-

e Charles Correa/ It i

24) Find the odd one out: /wﬁﬂm Td Hﬁﬁrm’:
1. coffee / BIBT

2. rice / dIdd

3. tea/dY
4. cashew / DIS]

Correct Answer :-

e rice/dldd

25) Find the odd one out: /wﬁw Jrd aﬂﬁnz:
1. 1321

2.343

3.27

4. 125

Correct Answer :-

» 1321

26) Who drafted Article 370, which gives a special status to Jammu and Kashmir in the Indian constitution? / fraq

TG 370 BT UTAE 14T, Fora 6 o7 ve H1Rei 3t Ry dfae & fatiy goif ura gem @2
1. Sardar Vallabhai Patel / 9XcqIR ac—m'm-n's“ ged



2. Jawaharlal Nehru / SIdleXdldd 3163
3. BR Ambedkar / 13R 3SSH

4. Gopalaswami Ayyangar / TUTERATH SRR

Correct Answer :-

» Gopalaswami Ayyangar / TMUTaRamT SRR

27) Bateswar group of temples is locatedin___ ./ HieR &1 E%%R' qyqg H @H%l
1. Morena/ @_ﬂ

2. Ujjain/ I

3. Khajuraho/ @W

4. Ratlam/ XddTH

Correct Answer :-

« Morena/ 113—41

28) Name the first women Governor of an Indian State. / HRA™ EI%SZT CJ| q??ﬁ TI'I%?IT YT hT ATH ddigel
1. Lakshmi N. Menon / AI&HT UA. BCC

2. Sucheta Kriplani / ﬂa?ﬂ m

3. Padmaja Naidu / SISl AU

4. Sarojini Naidu / GRIS TG

Correct Answer :-
e Sarojini Naidu / TRISH A qg

29) The district in Madhya Pradesh ,whose name means “Place of Peacock”./ &I U= &1 g forar forgs A &1
3 AR BT RIFA" §:

1. Morena/ 'Eﬁ_"ﬂ

2. Dhar/ YR
3. Rewa/ J1dl

4, Ratlam/ XddTH

Correct Answer :-

e Morena/ @_'ﬂ

30) Complete the series choosing the missing number: / &l ST JADR Yl Ca| T PifoTg:



9,11,20,31, __ ,82
1.51
2. 41
3.71

4. 60

Correct Answer :-

e 51

31) Complete the series choosing the missing number: / &l AT GADR YT Eal T PifoTg:
165, 195, 255, 285,345,

1. 375

2. 435

3.390

4. 420

Correct Answer :-

. 375

32) Complete the series choosing the missing number: / &l Jq=n AR g Cg| A PIforg:
5,17,37,65,

1.97

2.99

3. 101

4.95

Correct Answer :-

33) Which number would be in the hundreds place of the difference between 'Five thousand two hundred and six' and

1023? / “UTE g1 3R &1 T B’ 3N 1023 & 3R A P9 Al T AH ST RIH W Rl
1.1
2.5
3.8

4.3

Correct Answer :-



34) The series given below contains a sequence of numbers. Identify the incorrect combination: /:ﬁaiﬁ 11€ %[@T’IT ﬁ,

T3 H1 TH U U § | Tad Ao+ Ugang
5, 6,10, 15, 25, 40

1. 40

2. 10

3.15

4.25

Correct Answer :-

35) The series given below contains a sequence of numbers. Identify the incorrect combination: /T'ﬁ%?ﬁ Tlg %[@?IT ﬁ,

T@aHt BT Uh HH IURRIA & | Ted Hale Ugdnu:
1236, 2346, 3456, 4566, 5686

1. 4566

2. 1236

3. 5686

4. 3456

Correct Answer :-
e 5686

36) If DOCUMENT is coded EPDVNFOU, then how is FIGHDST coded? / afe DOCUMENT &Y EPDVNFOU & ®if&d

forar STt 8, 9 FIGHDST 3 $4 Hifsd forar s
1. GJIHETU
2. GJHIETU
3. GIHIETV

4. GHJIETU

Correct Answer :-

e GJHIETU

37) Select the option that is true about the Statements and Conclusions given:
Statements:

Some rhododendrons are strawberries

All strawberries are raspberries



Conclusions:
I. Some rhododendrons are raspberries
I1. Some strawberries are rhododendrons

| 39 faeu &1 9g1 HIfoTE Sife 2T e Hu=T o fswpul & 9 # I8! 8:
DY:

PO ASISTH €I §

Tt =i et @

A

I $3 NS IS I §

II. $O WA VST &

1. both conclusions I and 1I follows / FISBT [ 3R 11 SHT SFERUI B &

2. only conclusion I follows / e 5B [ 3FTRUT Rl §

3. only conclusion II follows / e 5B 11 STTRN HaT §

4, neither conclusion I nor conclusion II follows / - ?ZT fspy 1 3ﬁ? - 6? fspy 11 ST GG %

Correct Answer :-

« both conclusions I and II follows / TSP 1 3R 11 _cﬁ:ﬁ STIRTT W%

38) Select the option that is true about the Statements and Conclusions given:

Statements:
Some men are kids
Some men are not bald

Conclusions:
I. All bald are kids
II. All kids are men

/ 39 faPeu 31 79 FIfvre e fow e Y=Y ok fFrepul F IR # 98t @:
DY:

7o =T RIYE

PO [T TS T

frep:

1. ot vt fRrgy @

11 9t Ry g=u @

1. both conclusions I and II follows / FsBY 1 3 11 &Y IR0 FRA &

2. only conclusion I follows / Had sy | SR pdT %

3. only conclusion II follows / Had sy 11 SR pdT %

4, neither conclusion I nor conclusion II follows / - ﬁ fspy 1 3%? Bl Eﬁ frpy 11 ST GG %



Correct Answer :-

« neither conclusion I nor conclusion II follows / 7 &1 5B 1 3R 71 8t fAen 11 S{FERUT PG

39) Select the option that is true about the Statements and Conclusions given:

Statements:
No fruits are vegetables
Some knights are not vegetables

Conclusions:
I. Some knights are fruits
I1. All fruits are knights

| 39 faweu &1 994 Hifoe i i e wy=T oix fFrewsl & ok & 98l 3:
DY:

oY B Afowrai T8 @

TS A1ge Afowrai T8 8

ﬁ-m’-&:

I $O A5 B &

11. 9t et ge €

1. both conclusions I and I1 follows / F5HH 1 3R 11 T SFTRUT HRdl &

2. only conclusion I follows / ad FT5HY 1 3FTERUT HRl §

3. only conclusion I follows / Fad FT&HY 11 STERUN HT §

4, neither conclusion I nor conclusion II follows / _Eﬁ fAsp 1 3R T g’T faspd 11 ST B %’

Correct Answer :-

« neither conclusion I nor conclusion II follows / 7 &1 5B 1 3R 71 8t few 11 S{FERUT A G

40) Select the option that is true about the Statements and Conclusions given:

Statements:
No insects are rats
Some rats are buffaloes

Conclusions:
I. Some buffaloes are insects
I1. Some buffaloes are not insects

/ 3 fae &1 91 B i fqu T wy=T ok frspt & TR & Wet &
BY:

@IS Pie 61 TE1 8

PO AAE



e

1. 0 NG P e

II. 3O g Blc A8 8

1. both conclusions I and II follows / f&H 1 AR Eﬁ:ﬁ ST A %
2. only conclusion I follows / Had (epy | SR pdT %

3. only conclusion II follows / Fad s 11 SRR

4, neither conclusion I nor conclusion II follows / = Epf fAspy 1 3R T Expf s 11 ST HIA %

Correct Answer :-

« only conclusion II follows / Fad f5HY 11 3HRUT

Topic:- Mental Ability and Mental Aptitude

1) If the following two squares shown below overlap, which one of the following options is formed? / af¢;

o @ o sfoeafg g £ar B § O &9 o1 & ey aaar &

Lo

-

Correct Answer :-
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Correct Answer :-
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Oe0

m
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ece

cee

Arope was cut into 3 pieces of length 3 " m, 4§ m and 2 m. What fraction js the first and the second

part together of the whole? [/ Tdh ToHr & 3% ?Fﬁﬂ,d-g Hiex 3 2 m’ﬂ'ﬂﬁ@? 3 w#

5

FIET IR o) W%wwmmiﬂtmﬁﬁqﬁwﬁ?

1.2/5

2.3/5



3.4/5

4.5/4

Correct Answer :-

. 4/5

HEER
|". .'. 777> d_""___" D
\ [[I fl \ =

1.
/
2.
AT
3.
4,

Correct Answer :-

5) The present age of Karan is four years more than four times the age of Khusboo. Five years hence, Karan will be
12 years more than 3 times the age of Khusboo. Find thepresent age of Karan. / ®X Ft ada= 3y, Wﬂ% 31y
F IR T A IR T8 4P B | uiw v ugyTd, H, RGB! MY F 3 T A 12 79 34fUP gRIM | A B adw=
3T T B |

1. 46 years / 46 T

2. 16 years/ 16 CL

3. 36 years / 36 ¥



4. 76 years / 76 GL

Correct Answer :-

e 76 years/ 76 ¥

6) The average of three consecutive numbers is 9. If 3 is added to each of the three numbers then find the new
average after the addition. /?ﬁqmmaﬁm 3Md 9 %I Wﬁﬁm&ﬁﬁmﬁ 3 \_rﬁ?;T\_rI'IT'IT%H-T'Cﬁ"T
& UYTA Y 31 BT 1 DY |

1. 10
2.6
3.9

4.12

Correct Answer :-

7) Ajith has three friends: Kapil, Mohit and Lalit. When Ajith wanted a certain amount of money, he took the help of his
three friends and borrowed Rs. 5,000 from them. In the coming month, if Ajith plans to return Lalith'sentire amount of
Rs. 1,500; but can return only Rs. 750 and Rs. 450 to Mohit and Kapil, respectively; then, what is the amount he must give

Mohit and Kapil in order to clear their debts completely?/ﬂﬁﬁﬁa??ﬂ?a'\‘ﬁ%': a:‘fﬁa,rh%?raﬁvaﬁﬁl o9 3refid
1 fAiféa afdr wrfde 0, @ 3E= F=F Sl S Teraar & ok 39 5,000 TUA IYR oA | 3 ard WA, Al
Sroid Bt AT aferd Bt 1,500 FUA B UL AR e Fi 3; AT 98 Aifed o FUa Ht wU=r: Faa 750
ggmﬁ}wsov@ammm%;ﬁﬁ%ﬁﬁﬁaaﬁaﬁ@mﬁwéﬁ%ﬁqaﬁwm

1. Rs. 2,500 / 2,500 ST
2. Rs. 2,300 / 2,300 SUY
3. Rs. 2,400 / 2,400 SUT

4. Rs. 2,100 /2,100 ST

Correct Answer :-

« Rs. 2,300/ 2,300 UL

8) 25 times the square of 125 is the same as the: / 125 %?aﬁm 25 AT = % H'FIT"'I'%:
1. 5 times the square of 125 / 125 é?aﬁw 53T

2. 125 times the square of 125/ 125 %aﬁw 125 7T

3. square of 625 / 625 caksu

4. None of the above /mﬁﬁaﬂgﬁ

Correct Answer :-

e square of 625/ 625 Waﬁ



9) In a certain place in Mumbai, there are 900 families. A survey indicated that 400 people used Nokia mobile phones;
200 people used Reliance mobile phones; and 80 people used both Nokia and Reliance. Find the number of families

which neither used Nokia nor Reliance. /gﬁéﬁwﬁfﬁamﬁ, QOOW?I Wﬁ&ma?m, 400 ART
NPT Masd BIF STANT Hd &; 200 AT RART H9Sd BIF ST Hd ; 3R 8o &l Aiferar ik faias
A BT STANT B 2 | I IRAR] Y BT JTd B Wil 7 ) Fifpar 3R 7 g Rarig SuahT &t g1

1. 340
2. 300
3. 360

4. 380

Correct Answer :-

« 380

10) At what compound interest rate would an amount increase by 96% in two years? /3-1' aui & fpa ﬂm Tl q¥
TR YRIRI H 96% B i giift

1. 40%
2.48%
3. 50%

4. 33%

Correct Answer :-
o 40%

11) Two years ago, a father was 5 times his son's age. Five years hence, the father's age will be thrice his son's age. What
is the present age of the father? / I 9§ Ugd, T® fUar erlﬁgaraﬁ ST T 5 AT UTI vig a9 uyTd, e 3t 3
IS T DI Mg BT i A1 gt | Frar ot aefam= sy @ 32

1. 37 years / 37 a'ﬁf
2. 42 years / 42 a’ﬁf
3. 40 years / 40 ay

4. 35 years / 35 G

Correct Answer :-
e 37years/37 Ty

12) The length of a rectangle is increased by 40%. By what amount of percentage the width have to be decreased to

maintainthesamearea?/@éﬂﬂﬂaﬁmm%ﬁwaﬂ'@%l Wammwﬁ%m,iﬁm%aﬁ
e wfer=ra gerr g

1. 28.5%



2. 25.5%
3.40.5%

4. 36.5%

Correct Answer :-

e 28.5%

13) A, B and C can do a piece of work in 7 days, 14 days and 28 days respectively. If they work together, the work will be

finished in ./ A, B 3R c Th &1 Y HHD: 7 oY, 14 faAY 3R 28 fef & &2 I &1 4l A U AU HH
FYd g dt prd # €Y 9T B ST

1.2days/2ﬁ7‘ﬁ
2.4days/4ﬁ7‘ﬁ
3.5days/5ﬁ7‘ﬁ
4.3days/3ﬁ7‘ﬁ

Correct Answer :-

. 4days/4ﬁ"—‘ﬁ

14) In an examination, the maximum marks are 900. A student gets 33 % of the maximum marks but fails by 45 marks.

What is the passing mark? / T U31&IT H, 3IfrerdH 3% 900 8 | U faemf siftrerdw 3iepl o1 33% Ured Har g
AfPB 45 3T A Sr=itof g1 wrar g1 Il o w2

1. 342
2. 350
3. 360

4. 380

Correct Answer :-
e 342

15) Which one of the following four addresses is NOT EXACTLY same as the one given below? / fafea
T IR Ui d 9 - 3 T ud & St quE o9 91 e 81 82

Dr. Heinz
Hofstr. 16,

Bad Bellingen Baden, 79415

(i) Dr. Heinz



Hofstr. 16,

Bad Bellingen Baden, 79415

(ii) Dr. Heinz
Hofstr. 16,

Bad Bellingen Baden, 79415

(iii) Dr. Heinz
Hofstr. 16,

Bed Bellingen Baden, 79415

(iv) Dr. Heinz

Hofstr. 16,

Bad Bellingen Baden, 79415
1. iv

2.1

3.1i

4. iii

Correct Answer :-

16) The average age of two persons is 32 years. One is elder by the other by 16 years. The ages of the

two persons are: / 3 TGl B 3 Mg 32 79 21 U5, R A 16 T4 I3T 81 Il =ufaaal 3t 31y 7:
1. 20 years, 36 years / 20 9, 36 ¥
2. 32 years, 32 years / 32 @, 32 a§
3. 24 years, 40 years / 24 Y, 40 Y

4. 34 years, 50 years / 34 atf, 50 9N

Correct Answer :-

e 24 years, 40 years / 24 a'ﬁf, 40 Y

17) Find the approx distance travelled by a wheel of diameter 14 inches in 25 revolutions. / 14 $d I
& Ufed gIRT 25 ufeerHur § T4 BT TS AT g 1 B

1. 1,100 inches / 1,100 39



2. 1,200 inches / 1,200 9
3. 1,300 inches / 1,300 59

4. 1000 inches / 1000 4

Correct Answer :-

« 1,100 inches / 1,100 5

18) Simi and Nimi are sisters. When Simi was 10 years, Nimi was double her age. At present, if the

average of their ages is 25, find Nimi's age. / Ruft 3R feft 78+ €1 5ra Rieft 10 af &7 <ft, ot el St oy
{ g ot afaE W, afe et sy @1 shwa 25 B Y At Y ey wma B

1. 45
2.40
3.30

4. 60

Correct Answer :-

19) A grocer buys 600 eggs at 75 paise each; of which 50 eggs were found to be broken. At what rate
should he sell the remaining eggs so as to gain 10 %? / U® TR A 600 Gi%, 75 TR TP & feue @
@i | 598 9 50 343 g¢ UTT Y| fhd R IR S WY ST Bl 99T A1 forad fs @y 10% 72

1.Rs.2 /2300
2. 90 paise / 90 U

3.80 paise/SOaﬁ
4.Rs.1/1%0

Correct Answer :-
« 90 paise /90 T

20) A bag contains Rs. 210 in the form of one-rupee coins, 50 Paise coins and 25 Paise coins in the ratio
3:5: 6. The number of 25 Paise coins in the bag is: / T& 3d # 210 U3 § o f& ver Tud & g, 50 A
FRFF M 25TV F TP F3:5:6F U A 21 A A 25 T F Rygw! $t wE e:

1.30
2.90
3. 150

4. 180

Correct Answer :-



e 180

21) A can do a piece of work in 30 days. He works at it for 20 days but leaves the task incomplete. B
takes over and completes it in 12 days. If A and B had worked together, how many days would it have
taken them to complete the work? / A feft &1d &) 30 fe= & &= GdT 81 98 39 W 20 fe7 ord a1 @
AT ST BT 3ALRT BIS a1 31 B I S D1 Heam ¢ 3N 12 ff & g1 w3 a1 81 afe A 3R B 41 vop w1y ok
PR ¢, a1 3 BT B W B & g fram e dae

4 4

16 — days/ 16 —
i Ll bk
7 7

16 —days /16 — EFI
1 A 11

lﬁldavs 161 fea1
11 11

10 10
16 —days /16 —
{1 11 Teet
4,

Correct Answer :-

4 4
16 — days/ 16 —
5 11 bk

22) Three different containers contain 52 / 72 / and 24 /of milk respectively. What biggest measure can
be used to measure all the containers exactly? / @51 fafirs ur su=m: 52 e, 72 wfiev 3k 24 ez gy
TG T B 91 gaQ FT A1 Gt Ul 1 9 @ W F 1w vy §) Jhdn 82

1.21/2dR
2.41/4 TR
3.6//6dIcR
4.12//12 AR

Correct Answer :-

e 41/4R

23) Ratio between Rahul and Deepak is 4:3, After 6 Years Rahul age will be 26 years. What is Deepak
present age? / g 3R EUF F ST BT U 4:3 1 6 IuT YT A5 DI 3ATY 26 T4 g1ft| Sy # adtar=
3TY FT 82

1. 14

2.20



3. 15

4.22

Correct Answer :-
e 15

24) A trader buys 25 oranges at 8 per rupee and another lot of 25 oranges at 12 per rupee. He mixes
both the varieties, and sells them at 10 per rupee. What will be the percentage profit or loss he

suffers? / T TURY ¥ 8 FUT Ufa F fITa & 25 W WS SR 25 TeRl o1 37 Y 12 U ufa & fFama @
Tl 39 ST U RI a1 firer fan ok 3% 10 Ut ufd & feame & a9 e 39 fora= wiara ey ar 1f
ghit?

1. None of the above /Buﬂaaﬁ@(aﬂ's‘qﬁr
2. 4% profit / 4% <Y
3. 4% loss / 4% @I

4. 5% profit / 5% IH

Correct Answer :-

e None of the above/mﬁﬁaﬂé:@f

25) A man traveled a distance of 61 km in 9 hr. He traveled partly on bicycle at 9 kmph and on foot at 4
kmph. The distance traveled on bicycle is / Th JFY 9 He # 61 f&lt &Y g wran %I I SMifRTF FTUT 9
it ufy deT W wgfea I ok 4 Pl ufd deT R Iga arn ot IsfPa R au A gl 8

1. 50 km / 50 fardit
2. 25 km / 25 Tt
3.45 km / 45 fodl
4.16 km / 16 fotit

Correct Answer :-

« 45km /45 foet

26) The present ages of Palani and Karthi are in the ratio of 5 : 4, respectively. Three years hence, the
ratio of their ages will become 11 : 9, respectively. What is Karthi's present age? / T iR B1fd 3
AT 3T HU: 5 : 4 F JUTd H § | I a9 UYTd IS 3T HT ST HHRT: 11 : 9 Tl RN | HIfd B THH
3TY FT 82

1. 21 years / 21 CL
2.26 years /26 I%
3.30 years /30 a¥

4. 24 years [ 24 G

Correct Answer :-



« 24vyears /24 TN

27) A car starts from Point A towards Point B at a speed which is 50 % higher than that of a two-
wheeler. The two-wheeler is 120 km ahead of the car and is also moving towards Point B. If both the
vehicles reach Point B at the same time, what is the distance between Points A and B? / Th R ®R[d A J
RIT B B 3R Torell @ 3R IS 7l 3 ufan are= &Y 1fa A 50 ufa=rd if¥re 81 Y ufgar arg= R | 120 e
anﬁ%ag'\rm B 1 3R 9T T7T 81 afe A1 18T =Ie B TR JHH T9T § Ugad § df ®d A 3R =@ B & &g @}
T HRTR?

1. 360 km / 360 foHT
2. 420 km / 420 ot
3. 240 km / 240 fHHY

4. 200 km / 200 fopHt

Correct Answer :-
« 360 km / 360 fopHT

28) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: Eic| Epf Tlg

e ¥, 3Ry 3R wemait &1 v ww fAfgd &1 aa S vganae:

i.yooii01011iiyoo
ii.yo0ii0101iiiyoo
iii.yo0ii01011iiyoo

iv.yooii01011iiyoo

4, iii
Correct Answer :-

o i

29) Find the average. / 3ira fRrefed
79, 89,99,9,19 & 29

1. 56

2.54

3.58

4.52



Correct Answer :-

e 54

30) 56% of 75 + 10% of 150 = ?
1.75
2.63
3.57

4. 52

Correct Answer :-

e 57

Topic:- Science and Simple Arithmetic

1)
If the side of the sguare is 21 cm, then the cicumference of the circle = T aar &r #aT 21 A

g algea dranfa = _

28
./

1. 528 cm/ 528 T,

2. 1386 cm / 1386 TH.
3. 264 cm / 264 IHT.

4,132 cm/ 132 3,

Correct Answer :-

e 132 cm/ 132 3w

2)
If the diagonal of a cube is 6y3cm, then the edge of the cube is: / AT T F TFoT 643 TAT &, dF a1 $r

FN [@F= e
1.20m/2@7ﬂ
2. 6cm/ 6

3.12cm/ 12 TH



4.3cm/3@1ﬂ

Correct Answer :-

. 6cm/6®1ﬂ

3)
In the given figure, AB || CD, £AEF = 65°, #/PQF = 40°, then the measure of #EP(Q = .f

few 77w I3 &, AB || CD, £AEF =65°, «PQF = 40°, a@f £EPQ & A =

A JE B
i\
C J/F N\ D
* Q
1.65
2.40
3.120°
o
4.105

Correct Answer :-

4) PQRS is a tmpezium in which SP | RQ, £5 = 90° and £Q = 130° The measures of #P
and z/R are ___ and , respectively. / PQRS UF HHeld I & o098 SP | RQ, £S5 =
90° #X £Q = 130° P duT«R & A &ewr: 3w gl

1.90°, 60
2.90°, 130
3.90°, 50
o
4.50°, 90

Correct Answer :-



If (x*+ Tx +12) = ( x + 4)x #, then # stands for: / I ( x* + Tx + 12) = ( x + 4)x #
ar # &1 AT f&F gem:

1.(x-3)
2.(x+3)
3.(x+6)
4.(x-0)
Correct Answer :-
e (xt+3)

6)
(1.1P-3x(1.1)P¥x01+3x1.1x(01)¢=

1.1
2.0.1
3.0.01

4.1

Correct Answer :-

e 1

7 J— —
) [£335241 =9 % 37249 and 37249= 193, then /335241 = . TTg 335241 =9 % 37249

dur /37249 =193_4dr /335241 =
1. 579
2.537
3. 1737

4. 193

Correct Answer :-

* 579

8) After getting two successive discounts, a shirt with a list price of Rs. 150 is available at Rs. 105. If the
second discount is 12.5%, then how much is the first discount? /?f SHHNITI P T CIE| %aﬁ.’, 150 3T &
Sifera eu aTelt S 105 FUA B Iuas 71 afe gl G 12.5% Ft R, @t ugelt ge frast A2

1. 20%

2. 15%



3. 18%

4. 10%

Correct Answer :-

e 20%

9) If 25% of a number is 20, what is 40% of that number? / T BT BT 25% TFE 20 B, a1 FHBT 40% e

g
1.32
2. 24
3.28

4. 30

Correct Answer :-

e 32

10) A has Rs. 90 and B has Rs. 42. After B has won a certain sum from A, A has five-sixth of what B has.
How much does B win? / A & URT 90 ¥4 § 3R B & URT 42 U4 § 1 B §RT A I T Af¥a «m=ifr sfiq a9 & a1,
AF U B H15/67 URTIAT 81 B 7 fapat em=ifdr st

1. Rs. 20/20 390
2. Rs. 30 /30 30
3.Rs. 24 /24 %00

4. Rs. 32/32%00

Correct Answer :-

« Rs.30/30%00

11) If the cube root of 1728 = 12, then the cube root of 0.001728 = . /qfd 1728 &1 ¥-19a = 12, 1 0.001728
PIEAA=_ .

1.0.012
2.0.0012
3.12
4.0.12

Correct Answer :-

e 0.12



12) The period in which 20000 will amount to Rs. 24,200 at 10% per annum compound interest is: / 20000
T P YRR 10% TS Tshgies ST B g% WR =T 3rafer & 24,200 T B ST

1.3 years/3 CL]
2.2 years/za'ﬁf
3. 1year/1 CL
4. 1.5years/ 1.5 G

Correct Answer :-

. 2years/2?:|'5f

13) The expenditure on different items for constructing a flat in a metro city is given in the pie chart below.
Which of the two expenses will have a difference of central angle 36° ? / T ﬁg‘rw # te wWe & Fafur &
fere faft= 9l wR 811 91a g &Y f= ud ard o fean T 81 fop &Y oo § 36° & sy BT BT 3R 82

Expenditure/ OO

cement/
et
20%

1. Bricks and Steel / $¢ Td &I
2. Labour and Cement / %9 T4 JiHe
3. Labour and Bricks / ¥H QH'&"C’

4, Cement and Steel /Fﬁﬂ?@@ﬁ

Correct Answer :-
« Bricks and Steel / 3¢ Ud ¥ Id

14) Which of the following structure is present in the nucleus? / fFrafafaa g & @ $19 T1fe o SufRE gidt
&

1. Mitochondria / GAB U]

2. Chromosome / UR[A
3. Centriole / d 3P [+
4. Ribosome / ﬂg@?ﬁt{

Correct Answer :-



e Chromosome / VJUI[A

15) Which is the correct sequence of steps involved in the crystallisation of a pure compound from its impure

sample? /WWQWW%Wﬁ%ﬁ@WWWW@WWW%’
1. Filtration, Evaporation, Dissolution, Cooling / ﬁ@ﬁ, GILCGH ﬁ"EIE:L IRNE
2. Dissolution, Evaporation, Cooling, Filtration / ﬁ'ﬂfq, GILCGR Qﬂ?ﬁﬂ, ﬁ?:la:f
3. Evaporation, Filtration, Cooling, Dissolution / AT, ﬁw’a?, Qﬂﬂa:f, fageq

4. Evaporation, Dissolution, Cooling, Filtration / A8, ﬁa“ﬂ, Qﬁﬂﬁ:{, e

Correct Answer :-
« Dissolution, Evaporation, Cooling, Filtration / ﬁ'EIE:L qry-, ‘\’ﬂﬁﬂ:{, e

16) If 120 oscillations are produced in 6 seconds, the frequency will be: / Ife 6 Adrs H 120 S IUA gid %', a

gt gt

1. 20 Hz / 20 <ol

2. 0.05 Hz/0.05 ol
3. 120 Hz /120 BCol

4.720 Hz /720 BCol

Correct Answer :-

e 20 Hz/20 &<l

17) Oxygen atom has six valence electrons, but its valency is only 2. This is justified because: / SRS URHIJ |

BE GO 3AE 8, IR S9! YUIoTwdT $ad 2 31 I8 3R 8 Fife:

1. It can gain six electrons and complete its octet to be stable. / 9§ B8 3@13@%‘[ It HwX Jhdl % aquTRR Teef & 1%‘1? 3
3y P! guf el B |

2. It can gain two electrons and complete its octet to be stable. / T8 Gl SATCIT U B bl § adT fFRIR Ig4 & fog A
3% I gl BT 5|

3. It can lose six electrons and combine with other elements to form compounds. / 96 B6 iath\I"'I ) ghdl % dYT A dd

& 1Y GG g1 T T A0 BT B

4. It can lose two electrons and combine with other elements to form compounds. / g a 3@7@%‘[ @l gHdl % dYr HY dd
F Y Y G AT BT Ao Hrar 2|

Correct Answer :-

« It can gain two electrons and complete its octet to be stable. / 98 Eﬁ 3@7@77[ YT hR ohdl % U RR ?_Eﬁf ® 1%111 3
3y P guf aRaT B |

18) Fruits and flowers are coloured due to the presence of: / Bl dYT Wﬁ' &1 3 A= @) SufRfa & SR @Tﬂ %:



1. Leucoplast / 3(quil dTddh
2. Chromoplast / gufcias
3. Chloroplast / gRaaa®
4. Chlorophyll / qUT?ﬁ_d

Correct Answer :-

e Chromoplast / gufcias

19) The device which easily closes or opens an electric circuit is ./dg %ﬂ'l?ﬁ[\“rﬁ ﬁg’iﬁf TfRuy H AT
& 1Y ¥ Pl § AT WA §, 3

1. electric cell / ﬁ'ggq?r I
2. electric switch / fagad g
3. electric bulb / {agad ed

4. electric fuse / fagad W&

Correct Answer :-

e clectric switch / fdgad fad

20) The Kkind of 'filler' connective tissue that binds skin to muscles and holds organs in place is: / TP YPIR BT “YPH’

Yol SHad St a1 &) 7" R A s 8 iR 3 @) gyTad W R 391 8, e seamars:
1. Areolar/Qﬁ'&hFR
2. Adipose tissue / TUIT SHad

3. Tendon / &I
4. Ligament / ¥1Y

Correct Answer :-

e Areolar/ Qﬁ&hﬂT

21) The level of mercury rises when its bulb comes in contact with a hot object because: / WWWW%\_WW

T Tod TH g & WUS | 31T g TP :

1. Of radiation / fafdhRUT & HRUI|

2. It shrinks when heated / TRG TRH §1F IR YH I Il g |
3. Of convection / TG & HRUI|

4. Tt expands when heated / TRE TRA 811 W fawRa gl g |

Correct Answer :-

o It expands when heated / UIRq W@ﬁmmm%l



22) The middle layer of the earth is called ./ gt B} Aegady urd e Pgard! g
1. crust/ '{Clﬁ_a

2. mantle / UTdR
3. cladding / ORI
4. core /| PIS

Correct Answer :-

e mantle / UTdRR

23) The number of colors present in white light are: / Tdd U1 H IURIA 0 Y = Eﬂ?‘ﬂ %:
1. Seven / HId

2. Five /UG

3.Six/9:

4. One / Uh

Correct Answer :-

e Seven/¥ld

24) The cell organelle which is found only in plant cells is: | DIRABT TP S Had Uiy HIfRrewTe § UrT Srar %
1. Golgi apparatus /7 TeoT 3BT

2. Mitochondria / IHT0TERT

3. Plastids / Idh

4. Ribosome /m@ﬂ

Correct Answer :-

e Plastids / dIdh

25) The side of a square is 2 cm. If semicircles are constructed on two sides of the square, then the area of the whole

figure is: / T Y Yoir 2 A, B 1 AfS Tt Y S Yo wR Srgiged ST o, <t gut srepfa &1 erwa fe= gm:

(4+ 2w ) cm?
1.

4 +4m ) cm?
2.
, (GFm)om?

4 7 cm*



Correct Answer :-

(4 + 27 ) em?

26) Farmers water their fields at night in cold winter because: / Xid & W # O T & v @l A

Tt STerd § Fife:

1. Due to low specific heat, allow the water in capillaries to freeze. /WWW%W, %&m&ﬁﬁuﬁrwg‘r
ST g |

2. It protects the plants from frost. / Jg qﬁsﬁﬁwﬁw%l

3. Rate of evaporation increases at night. /WW'&WWEY%W%I

4. Plants absorb water faster at night. /ﬁamﬁﬁaﬁﬁﬁ mﬁm%l

Correct Answer :-

« It protects the plants from frost. / dg ﬁﬁﬁwﬁaﬂm%l

27) are a gallinaceous domesticated fowl, bred and raised specifically for meat
production. / TS epape-dath urerqg vefl, 7% 3 =it falkiy &u 3 7 e & forw ureht
STt 21

1. Broilers/avw

2. Ducks / ddd

3. Turkey/a?gq&‘ﬁ (E_q’?f)
4. Rhode Island / I 31'[5'%3

Correct Answer :-

. Broilers/avw

28) The practice of growing plants in mineral nutrient solutions in water without soil is called ./

a1 & o oa o @i Wive a@ faea= o 1 ST &1 s Fgar gl
1. tissue culture / S AP TaeH

2. aeroponics / TRITNGT
3. hydroponics / SI¢l g

4. roof top gardening / ©d CINECIGI

Correct Answer :-

 hydroponics / ST Tae

29) {1-[1-(1-n)yT}1=



30) The vacuoles in a plant cell is a: / TP UTgU BB A fefeaest ﬁ?ﬁ %:

1. None of the above / Iudad & ¥ 13 gl

2. Lacks a membrane and contains insoluble excretory substances/ ﬁc_vﬁ T%?T ﬁ?ﬁ %’ 3R @'ﬁ[ Jfaeg G?\qTrffq'c{Rf Eﬁﬁ ?fl

3. Membrane bound organelle containing cell sap / PIRTET T frcel ST HIRIDT D

4. Membrane bound and contains storage carbohydrates and fats/ ]%Ic_vﬂ 1T Il % 3R Eﬂf{ YR Wﬁ%ﬁ%‘c’, 3R g
gld €|

Correct Answer :-

« Membrane bound organelle containing cell sap / S ITRIHT ITY ferect! F1e HIRBT TH



